
© Rico Yrkesinnredning 2018 - All rights reserved.

Assembly 
Instructions

Car model:  Report - Crashtest 2022 - Rev5 
Product:       MEVI-A2-19-A2-1-C
Material:      Spruceflex

Make a note if modifications are needed

Fastener guide - RICO
Drawer cabinets:
3x30mm/3x40mm - DG - T10

Drawersupport:
3x20 - PAN - T10
Flooring 12mm:
3x40mm - DG - T10

Shelves:
3x40mm - DG - T10

Drawers:
3x30mm - DG - T10

Handles:
4x20mm - PAN - T20
Edging (Alu):
3x16mm - T10

Hooks / Accessories:
M6x20 - CS - UB4

Bolt - Connecting floors:
M6x15 mm - CS - UB4
Bolt - Connecting Shelves:
M8x20 mm - CS - UB5
 
 

Change log:

WEIGHT: 148,608 kg

Load - 45,1 KG

Load - 38,3 KG

Load - 28,3 KG

Load

Front

140 KG

Load

Rear

120 KG

Total load - 371,7 kg

Total weight - 519,13 KG

Net weight 24,94 KG

Net weight 27,92 KG

Net weight 14,95 KG

Floor with drawers

Net weight 80,22 KG



© Rico Yrkesinnredning 2021 - Alle rettigheter forbeholdt.

Bøvågen 35 4262 Avaldsnes | (+47) 52 83 91 00
post@ricogruppen.no

Standars and tolerances
NS-EN ISO 7200:2004
NS-EN ISO 8015:2011

Scale
1 / 22

Created by
A.Helgeland

Date
01.04.2018

Paper size
A3

Sheet
2/10

Customer
Rico Yrkesinnredning

Order

Status
WorkInProgress

Material
Spruceflex

Weight
148,608 kg

Title. Supplementary title
Dummy

Drawing code
MEVI-A2-19-A2-1-C

Car model
Report - Crashtest 2022 - Rev5

Right 
Left

Rear

Top

2
9
0

680

9
8
0

422 318

1240

620

950

475

1
0
0
0

8
6
0

8
6
0

400

400

300



© Rico Yrkesinnredning 2021 - Alle rettigheter forbeholdt.

Bøvågen 35 4262 Avaldsnes | (+47) 52 83 91 00
post@ricogruppen.no

Standars and tolerances
NS-EN ISO 7200:2004
NS-EN ISO 8015:2011

Scale
1 / 20

Created by
A.Helgeland

Date
01.04.2018

Papaer size
A3

Sheet
3/10

Customer
Rico Yrkesinnredning

Order

Status
WorkInProgress

Material
Spruceflex

Weight
148,608 kg

Title. Supplementary title
Dummy

Drawing code
MEVI-A2-19-A2-1-C

Car model
Report - Crashtest 2022 - Rev5

1. Installation instructions

Step 1:

 

The front module is lifted inside

 

The module is tilted slightly up, and 

we  apply Tec 7 in 9 locations, evenly

spread, between 

the chassis and floor module.

 

Amount of glue is approx ø15mm pr

point.

Front module

Tec 7 glue locations



© Rico Yrkesinnredning 2021 - Alle rettigheter forbeholdt.

Bøvågen 35 4262 Avaldsnes | (+47) 52 83 91 00
post@ricogruppen.no

Standars and tolerances
NS-EN ISO 7200:2004
NS-EN ISO 8015:2011

Scale
1 / 20

Created by
A.Helgeland

Date
01.04.2018

Papaer size
A3

Sheet
4/10

Customer
Rico Yrkesinnredning

Order

Status
WorkInProgress

Material
Spruceflex

Weight
148,608 kg

Title. Supplementary title
Dummy

Drawing code
MEVI-A2-19-A2-1-C

Car model
Report - Crashtest 2022 - Rev5

2.

M6x16 Bolt with impact nut

Left Module

Tec 7 is placed in 6 locations, ø15mm.

 

Left module is placed inside, and aligned with

the front module.

 

The module is secured using M6x16 bolts 

into the impact nuts in front 

module as illustrated.

 

 

Impact nut EFZ M6x9mm

CSK Screw - 6x16

Tec 7 glue locations



© Rico Yrkesinnredning 2021 - Alle rettigheter forbeholdt.

Bøvågen 35 4262 Avaldsnes | (+47) 52 83 91 00
post@ricogruppen.no

Standars and tolerances
NS-EN ISO 7200:2004
NS-EN ISO 8015:2011

Scale
1 / 20

Created by
A.Helgeland

Date
01.04.2018

Papaer size
A3

Sheet
5/10

Customer
Rico Yrkesinnredning

Order

Status
WorkInProgress

Material
Spruceflex

Weight
148,608 kg

Title. Supplementary title
Dummy

Drawing code
MEVI-A2-19-A2-1-C

Car model
Report - Crashtest 2022 - Rev5

3.

M6x16 Hex Bolt

Right Module

Tec 7 is placed in 6 locations, ø15mm.

 

The right module is now put inside and

secured using 6x M6x16 bolts to join  

the modules.

 

Floor section is now complete.

M6x16 Hex Bolt

Tec 7 Glue locations



© Rico Yrkesinnredning 2021 - Alle rettigheter forbeholdt.

Bøvågen 35 4262 Avaldsnes | (+47) 52 83 91 00
post@ricogruppen.no

Standars and tolerances
NS-EN ISO 7200:2004
NS-EN ISO 8015:2011

Scale
1 / 30

Created by
A.Helgeland

Date
01.04.2018

Papaer size
A3

Sheet
6/10

Customer
Rico Yrkesinnredning

Order

Status
WorkInProgress

Material
Spruceflex

Weight
148,608 kg

Title. Supplementary title
Dummy

Drawing code
MEVI-A2-19-A2-1-C

Car model
Report - Crashtest 2022 - Rev5

4.

Match the cabinet with the eight holes

in floor plate.

 

Insert 8x M8x25 Bolts with washer

into impact nuts.

 

Repeat for rear left cabinet.

 

Between the cabinets we use 

4x M6x16 bolts.

 

Front left cabinet

8pcs M8x25 MM Hex Bolt 

with washer

4pcs M6x16 MM Hex Bolt

Impact Nut M6

Bracket attached

to chassis with 

M8 Pop-Nut

CSK Screw M8x25mm

FZB Washer 13x24x2,5mm

Impact nut FZB

M8x12mm

Grabber Screw 

4,2x25mm



 E

SCALE 1:5

E

© Rico Yrkesinnredning 2021 - Alle rettigheter forbeholdt.

Bøvågen 35 4262 Avaldsnes | (+47) 52 83 91 00
post@ricogruppen.no

Standars and tolerances
NS-EN ISO 7200:2004
NS-EN ISO 8015:2011

Scale
1 / 25

Created by
A.Helgeland

Date
01.04.2018

Papaer size
A3

Sheet
7/10

Customer
Rico Yrkesinnredning

Order

Status
WorkInProgress

Material
Spruceflex

Weight
148,608 kg

Title. Supplementary title
Dummy

Drawing code
MEVI-A2-19-A2-1-C

Car model
Report - Crashtest 2022 - Rev5

Bracket attached

to chassis with

M8 Pop-Nut +

M8x20 Bolt

 

8 pcs M8x25 MM Hex Bolt

with washer

Rear right cabinet

Match the cabinet with the eight holes

in floor plate.

 

Insert 8x M8x25 Bolts into impact nuts.

 

Each shelf is secured to chassis using two 

steel-brackets, one front and one rear.

Size may vary, depending on car model.

 

The bracket is attached to the shelf with 

M8 Impact nut + M8x20 Pan head bolt

 

In the car chassis we use M8 Pop Nut + 

M8x20 Pan head bolt.

5.
M8 Pop-nut Steel

M8 Impact Nut

Steel Bracket 3mm

CSK Bolt M8x20

Bracket

Bracket

Bracket

Bracket

Bracket

Bracket

Bracket



© Rico Yrkesinnredning 2021 - Alle rettigheter forbeholdt.

Bøvågen 35 4262 Avaldsnes | (+47) 52 83 91 00
post@ricogruppen.no

Standars and tolerances
NS-EN ISO 7200:2004
NS-EN ISO 8015:2011

Scale
1 / 22

Created by
A.Helgeland

Date
01.04.2018

Papaer size
A3

Sheet
8/10

Customer
Rico Yrkesinnredning

Order

Status
WorkInProgress

Material
Spruceflex

Weight
9,995 kg

Title. Supplementary title
Dummy

Drawing code
MEVI-A2-19-A2-1-C

Car model
Report - Crashtest 2022 - Rev5

Drawers

Final step.

 

Insert the drawers, and the installation

is complet.

6.

For esthetic reasons, and providing extra strength, 

we add an flush-joint using Tec 7 in marked areas.

This is applied on the right side shelf, and the rear plate

on left side shelf.



DETAIL  C

SCALE 1 / 4

DETAIL  D

SCALE 1 / 4

C

D

© Rico Yrkesinnredning 2021 - Alle rettigheter forbeholdt.

Bøvågen 35 4262 Avaldsnes | (+47) 52 83 91 00
post@ricogruppen.no

Standars and tolerances
NS-EN ISO 7200:2004
NS-EN ISO 8015:2011

Scale
1 / 10

Created by
A.Helgeland

Date
01.04.2018

Papaer size
A3

Sheet
9/10

Customer
Rico Yrkesinnredning

Order

Status
WorkInProgress

Material
Spruceflex

Weight
14,968 kg

Title. Supplementary title
Dummy

Drawing code
MEVI-A2-19-A2-1-C

Car model
Report - Crashtest 2022 - Rev5

All parts is connected with mortise and tenons.

 

Predrilled 2mm holes for

3x40mm wood screw

Mid-wall and shelf-plates has 

interlocking joint.

The bottom plate is sealed

using Tec 7 

Triangle joint, 5mm

(Product sheet attached)



DETAIL  BRACKET MOUNT

SHELVES -> CHASSIS

SCALE 1:2

DETAIL BRACKET MOUNT

SHELVES -> FLOOR

SCALE 1:2

G

© Rico Yrkesinnredning 2021 - Alle rettigheter forbeholdt.

Bøvågen 35 4262 Avaldsnes | (+47) 52 83 91 00
post@ricogruppen.no

Standars and tolerances
NS-EN ISO 7200:2004
NS-EN ISO 8015:2011

Scale
1 / 15

Created by
A.Helgeland

Date
01.04.2018

Papaer size
A3

Sheet
10/10

Customer
Rico Yrkesinnredning

Order

Status
WorkInProgress

Material
Spruceflex

Weight
148,608 kg

Title. Supplementary title
Dummy

Drawing code
MEVI-A2-19-A2-1-C

Car model
Report - Crashtest 2022 - Rev5

M8x20 Pan head

+

M8 Impact Nut

M8x20 Pan head

+

M8 Pop Nut

M8x20 Pan head

+

M8 Impact Nut

M8x20 Pan head

+

M8 Impact Nut


